ICS 103-071
Quiz 1

Question 1: (3 points)
The following C program has 9 syntax errors.  Find these errors and correct them.
#include  <stdio.h>

int main() ;  {

  int x;

  double y;

  printf (“Enter an integer >” );

  scanf( “%f”,  x) ; scanf(“%d”,&x);
  printf (“Enter a real number”);
  scanf(“%f”, &y) ;  scanf(“%lf”,&y);
 printf(“The sum is %d”, x+y);   printf(“The sum is %f”, x+y);
return 0;
}

Question 2: (2 points)
Find the value of the expressions shown below

	expression
	Value

	(2+6/4)+3%5
	(2+1)+3%5=3+3=6


	7/2*2.0+(7+5/2.0)
	=7/2*2.0+(7+2.5)=7/2*2.0+9.5=
3*2.0+9.5=6+9.5=15.5



Question 3  (2 points )

Write the corresponding mathematical or C expression  

	C EXPRESSION
	Mathematical Expression

	1.0/7*c*d-(sqrt(a)+b)/4
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	sqrt(2+pow(a,3)+d)
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 Question 4: (3 points) 

Show the output of the following program in the space provided below it.  Each square corresponds to one space

#include <stdio.h>

int main(void) {

int t=628;

double x=51.127;

printf("%2d%5d\n",t,t);

printf("%3.2lf%.4f%3.0f\n",x,x,x);

return 0;

}
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